Whitman College

Econ 107

Exam 2

Write all of your answers on the exam.  Show all of your work.  The exam ends at 11:55.

1.  (a) (10pts)  Consider a firm operating with a fixed size of capital in the short run.  Suppose that for this firm, diminishing marginal returns to labor eventually set in.  In the space below, graph the firm's total product curve.   Be sure to label your axes.

(b)  (5pts)  On your graph above, label with an “a” the point where diminishing marginal returns set in.

2. (a)  (15pts)  Draw a set of short run cost curves for a firm.  Your graph should include an average fixed cost curve (AFC), an average variable cost curve (AVC), an average total cost curve (ATC), and a marginal cost curve (MC).  Assume that diminishing marginal returns set in at some point on your graph.  Be sure to label your axes.
(b)  (15pts) Assume the firm operates in a perfectly competitive industry.  Suppose that the price set in the industry is below the firm's break-even point, but above the shut-down point.  On the graph with your short run cost curves, draw the marginal revenue curve for this firm.  Indicate the quantity that this firm produces in the short run.  On your graph, show the area that represents the profits or losses the firm makes, and state whether this area represents a profit or a loss.  

(c)  (5pts)  Define the long run.

(d)  (10pts)  If the other firms in the industry have the same costs as this firm, what exactly will happen to the price in the long run?  Explain.  

For questions 3 and 4, fill in the blanks.  Use complete words rather than abbreviations.

3.  (5pts)  In the short run, a perfectly competitive firm will shut down if its revenue is 

not enough to cover its  ________________________________ .

4.  (5pts)  We know that a perfectly competitive industry efficiently allocates resources 

because the price in the industry equals ____________________________________ .

 5.  Use the following information to answer parts (a) and (b) on the next page.  Suppose the marginal cost of producing a particular good is a constant $8. There are no fixed costs of producing the good.  The market demand schedule for the good is given below. The product is divisible, so that if you graphed the demand curve, you would get a straight line. Suppose the good is produced by a single-price monopolist.

	Price
	Quantity Demanded

	20
	0

	18
	1

	16
	2

	14
	3

	12
	4

	10
	5

	8
	6

	6
	7

	4
	8

	2
	9

	0
	10


(a)  (15pts)  How much dead-weight loss is there in this monopolized industry?

(b)  (15pts)  What is the most the monopolist would be willing to pay to maintain the barriers that keep out the competition?  Explain your answer.
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